
L2(49).23 (mod 3)

blocks defect matrix

G : 1 1 3× 2
2 1 3× 2
3 1 3× 1
4 0 961 = χ4+, ϕ4+

5 0 962 = χ6+, ϕ6+

6 0 963 = χ8+, ϕ8+

blocks defect matrix

7 0 964 = χ10+, ϕ10+

8 0 965 = χ12+, ϕ12+

9 0 966 = χ14+, ϕ14+

10 1 3× 2
11 1 3× 2
12 1 3× 2

Block 1: ϕ1,0 ϕ16,0

11 = χ1,0 1 .
491 = χ16,0 . 1
502 = χ17,0 1 1

ϕ1,0 = 11
ϕ16,0 = 491

Block 2: ϕ1,1 ϕ16,1

12 = χ1,1 1 .
492 = χ16,1 . 1
503 = χ17,1 1 1

ϕ1,1 = 12
ϕ16,1 = 492

Block 3: ϕ2+

501 = χ2+ 1
506 = χ19,0 1
507 = χ19,1 1

ϕ2+ = 501

Block 10: ϕ17,0 ϕ17,1

504 = χ18,0 1 .
505 = χ18,1 . 1
1001 = χ22+ 1 1

ϕ17,0 = 502
ϕ17,1 = 503

Block 11: ϕ19,0 ϕ19,1

508 = χ20,0 1 .
509 = χ20,1 . 1
1003 = χ26+ 1 1

ϕ19,0 = 506
ϕ19,1 = 507



Block 12: ϕ18,0 ϕ18,1

5010 = χ21,0 1 .
5011 = χ21,1 . 1
1002 = χ24+ 1 1

ϕ18,0 = 504
ϕ18,1 = 505


